Name:

( . RS Add/Sub: ES1
~ \ Function Operations |-
A) 1) Ifflx) =7x +5and g(x) = 2x" - 5, 2) If fix) = 6x* + 3 and g(x) = 4,
find f1x) + g(x). find (g -/)(x).

B) If flx) = -3x* + 13 and g(x) =x’ + 8x” - 2 ; find the following.

i) (g+/)x) i) fx) - glx)
QO 1) Iffix)=-9and g(x) =-10 +x, 2) If fix) = -2x - 14 and g(x) = 5x + X,
find (g - /)(=7). find f16) + g(6).

D) If fix) =-4x + 15 and g{x) = 7x° ; find the following.
i) g-3)+A-3) i) (f-2)(2)

E) 1) Which of the following represents (g +£)(10), if fix) =x* + 1 and g(x) = -x* - 9x?

i) 89 i) -89 i) =91 iv) 91

2) Which of the following represents f{x) - g(x), if flx) = =11 + x and g(x) = 8x* + 3x - 12?2

i) -8%-2x+23 i) 8% +4x-1 i) 8 +4x-23 iv) -87%-2x+1
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Name:

e {Function Operations) e
A) 1) If fix) = 2x - 6 and g(x) = X* - 5x +6, 2) Iffix)=-7x + 2 and g(x) = X* + 2,
find Z&) find (g. £)(x).
glhx)’

B) If fix) = 4x - 8 and g(x) = -x* + 6x - 8 ; find the following.

i ; o (8
i) flx).gx) ii) (f)(x)
C) 1) Iff(x)=10x+3andg(x)=x+15, 2) 'f](X)= _3x_93ndg(x)=5xz+1‘
find (‘9(6). find g(-3) . f1-3).

D) If fix) =5-xand g(x) = 12+ 7x* ; find the following.

i) (f.g)-2) i) %

E) 1) Which of the following represents (-é)(x), if flx) = -9x° and g(x) = -3x*?

i) 3 i) x i) 2x iv) 3x

2) Which of the following represents (g . £)(5), if flx) = =13 - x* and g(x) = -14?

i) 168 ii) 532 iii) 494 iv) 196
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Name : Answer key

- @mction Operaﬁon& hedtun 22 B
A) 1) If fix) =7x + 5and g(x) = 2x* - 5, 2) If fix) =6x* + 3 and g(x) = 4,
find flx) + g(x). find (g -f)(x).
2% +7x -6x*+1
B) Ifflx) =-3x" + 13 and g(x) =x* + 8x* - 2 ; find the following.
i) (+/)) i) ) - gtx)
X +5%+11 - -11X*+15
Q1) Iffix)=-9and g(x) =-10 +x, 2) If fix) =-2x - 14 and g(x) = 5x + X7,
find (g - /)(-7). find £(6) + g(6).
-8 40
D) If fix) = -4x + 15 and g{x) = 7’ ; find the following.
i) g(-3) +/1-3) i) (f-2)(2)
-162 -49
E) 1) Which of the following represents (g +/)(10), if fx) = x* + 1 and g(x) = -x* - 9x?
) 89 Wy -89 i) =91 iv) 91
2) Which of the following represents fx) - g(x), if flx) = =11 + x and g(x) = 8x* + 3x - 12?
) -8F-2x+23 i) 8F+4x-1 i) 82+4x-23 i -8F-2¢+1
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Name: Answer key

— ( Function Op acations ) Mul/Div: ES1
A) 1) If fix) = 2x - 6 and g(x) = x* - 5x +6, 2) Ifflx) =-7x + 2and g(x) =x° + X,
find 2X) find (g . f)(x).
glx)’
2
x-2 -7x* -5 + 2
B) If flx) = 4x - 8 and g(x) =-x* + 6x - 8 ; find the following.
. % o é
i) ). g i f)w
-Xx+4
-4x° +32x* - 80x + 64 4
Q) 1) Iffix)=10x + 3 and g(x) =x + 15, 2) Iffix) = -3x-9and g(x) =5x* +1,
g ('gL) i find g(-3) . f-3).
3 0
D) If fix) =5-xand g(x) = 12+ 7x* ; find the following.
i) (f . 2)-2) i) }(5—‘:}
280 124
E) 1) Which of the following represents (é)(x), if fix) = -9x° and g(x) = -3x*?
B i) x i) 2x wy 3x
2) Which of the following represents (g . £)(5), if fix) =-13 - x* and g(x) = -14?
) 168 Wy 532 iii) 494 iv) 196
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